# Acta Universitatis Palackianae Olomucensis. Facultas Rerum Naturalium. Mathematica 

## Miroslav Laitoch

The method of variation of parameters in the theory of linear sequences

Acta Universitatis Palackianae Olomucensis. Facultas Rerum Naturalium. Mathematica, Vol. 30 (1991), No. 1, 211--218

Persistent URL: http://dml.cz/dmlcz/120258

## Terms of use:

© Palacký University Olomouc, Faculty of Science, 1991
Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.
This paper has been digitized, optimized for electronic delivery and stamped
with digital signature within the project DML-CZ: The Czech Digital Mathematics
Library http://project.dml.cz

# ACTA UNIVERSITATIS PALACKIANAE OLOMUCENSIS FACULTAS RERUM NATURALIUM 

Katedra matematické analýzy a numerické matematiky přírodovědecké fakulty Univerzity Palackého v Olomouci Vedoucí katedry: Doc.RNDr.Jiří Kobza, CSc.

# THE METHOD OF VARIATION OF PARAMETERS IN THE THEORY OF LINEAR SEQUENCES 

MIROSLAV LAITOCH
(Received February 28, 1990)

Abstract: We consider a linear difference equation of the form $\mathrm{f}\left[\hat{f}_{p}(x)\right]-\mathrm{P}_{1}(x) \mathrm{f}\left[\varphi_{p-1}(x)\right]-\ldots-P_{p}(x) \mathrm{f}\left[\varphi_{0}(x)\right]=0$, $x \epsilon(-\infty, \infty)$, which is defined over a cyclic group of functions $u_{y}=\{\bigcup \nu(t)\}_{\nu=-\infty}^{\infty}$. Solutions of this equation on a set of the points $\left\{t_{\nu}\right\}_{y=0}^{\infty}$, where $t_{\nu}=\hat{Y}_{\nu}\left(t_{0}\right), t_{0} \in(-\infty, \infty)$ are shown to be just only general linear sequences defined by a formula (p). The method of variation of stationar; sequences is modified to these sequences.

Key words: linear sequence, the method of variation of parameters.

MS Classification: 39A10.

1. General linear sequence. Let $N$ denote a set of all natural numbers. Let ly be an indefinit cyclic group of functions $\varphi_{\nu}(t), t \in(-\infty, \infty)$ with a generating element $U_{1}=\varphi(t), \nu=$ $=0, \pm 1, \pm 2, \ldots$, where $\varphi_{n}(t)$ denotes an $n$-times composite function $\psi_{1}=\varphi(t) ; \psi_{-n}(t)=\psi_{n}^{-1}(t)$ denotes the inverse function $\iota_{n}(t)$, $n \in N ; \psi_{0}(t)=t$.

It is obvious that the functions $C_{n}(t), n \in N$, have also properties of the function $?_{1}=\varphi^{*}(t)$ namely $\zeta_{n}(t)$ maps the interval ( $-\infty, \infty$ ) onto itself, $\zeta_{n}(t)$ is increasing from - $\infty$ to $+\infty$ and $\varphi_{n}(t)>t$.

Definition. Let $p \in N$. Let $\left\{\left(r_{1 n}, \ldots, \lambda_{p n}^{\prime}\right)\right\}_{n=1}^{\infty}, \alpha_{p n} \neq 0$, for every $n \in N$, be a sequence of ordered $p$-tuples of real numbers. To every ordered $p$-tuple of real numbers ( $a_{1}, \ldots, a_{p}$ ), which is called an initial condition, we associate a sequence $\left\{x_{n}\right\}_{n=1}^{\infty}$ defined by a recursion formula

$$
\begin{gather*}
x_{1}=a_{1}, \ldots, x_{p}=a_{p}, x_{n}=\alpha_{l n-p} x_{n-1}+\ldots+\lambda_{p n-p} x_{n-p}  \tag{p}\\
\text { for } n=p+1, p+2, \ldots .
\end{gather*}
$$

The sequence $\left\{x_{n}\right\}_{n=1}^{\infty}$ defined by the initial condition ( $a_{1}, \ldots, a_{p}$ ) and by the recursion formula ( $p$ ) is called a general linear sequence.

Theorem 1. Let $\varphi_{\nu} \in \operatorname{ly}, \nu=0,1,2, \ldots$ Let $t_{0} \in(-\infty, \infty)$ be an arbitrary number. Let $t_{\nu}=\varphi_{\nu}\left(t_{0}\right), \nu=0,1,2, \ldots$. Given a linear difference equation in the form

$$
\begin{equation*}
\left.f\left[l_{p}^{?}(x)\right]-P_{1}(x) f\left[l_{p-1}^{?}(x)\right]-\ldots-P_{p}(x) f[ \}_{0}(x)\right]=0 \tag{1}
\end{equation*}
$$

where $P_{p}(x) \neq 0$, over a group $\varphi_{i}$. Let $\sigma_{k \nu+1}=P_{k}\left[\zeta_{\nu}\left(t_{0}\right)\right]=$ $=P_{k}\left(t_{\nu}\right), k=1, \ldots, p, \nu=0,1,2, \ldots$. Let $f$ be a function and $f\left(t_{n-1}\right)=x_{n}$ for $n=1,2,3, \ldots$.

Then it holds: The function $f$ is a solution of the equation (1) given by the initial condition ( $a_{1}, \ldots, a_{p}$ ) on the set of the points $\left\{t_{\nu}\right\}_{\nu=0}^{\infty}, t_{\nu}=v_{\nu}\left(t_{0}\right)$ if and only if the following equalities

$$
\begin{array}{r}
x_{1}=a_{1}, \ldots, x_{p}=a_{p}, x_{n}=d_{1 n-p} x_{n-1}+\ldots+x_{p n-p}^{\prime} x_{n-p} \\
\text { for } n=p+1, p+2, \ldots
\end{array}
$$

are valid for the terms of the sequence $\left\{x_{n}\right\}_{n=1}^{\infty}$.
Proof. Let $f$ be a solution of the equation (l) on the set of the points $\left\{t_{\nu}\right\}_{\nu=0}^{\infty}$, where $t_{\nu}=\zeta_{\nu}\left(t_{0}\right)$, given by the initial condition $\left(a_{1}, \ldots, a_{p}\right)$. If we set $f\left(t_{n-1}\right)=x_{n}, n=1,2, \ldots$ we get

$$
x_{1}=f\left(t_{0}\right)=a_{1}, \ldots, x_{p}=f\left(t_{p-1}\right)=a_{p}
$$

and after inserting the function $\varphi_{v}(x)$ for $x$ into (1) we obtain

$$
f\left[\varphi_{p+\nu}(x)\right]-P_{1}\left[\varphi_{\nu}(x)\right] f\left[\varphi_{p+\nu-1}(x)\right]-\ldots-P_{p}\left[\varphi_{\nu}(x)\right] f\left[\varphi_{\nu}(x)\right]=0
$$

for $\nu=0,1,2, \ldots$. Hence we get for $x=t_{0}$ and $n=1,2,3, \ldots$ that

$$
x_{n}=\alpha_{1 n-p} x_{n-1}+\ldots+x_{p n-p^{x}} x_{n-p}
$$

where $n=p+1, p+2, \ldots$ for the sequence of the ordered p-tuples of real numbers $\left\{\left(\alpha_{1 n}, \ldots, \alpha_{p n}\right)\right\}_{n=1}^{\infty}$, where $K_{k n}=P_{k}\left(t_{n-1}\right)$, $k=1, \ldots, p$.

Thus the sequence $\left\{x_{n}\right\}_{n=1}^{\infty}$ is a general linear sequence given by the initial condition ( $a_{1}, \ldots, a_{p}$ ).

Conversely, let $\left\{x_{n}\right\}_{n=1}^{\infty}$ be a general linear sequence given by the initial condition ( $a_{1}, \ldots, a_{p}$ ) and the formula (p). Setting $P_{k}\left(t_{n-1}\right)=\alpha_{k n}, k=1, \ldots, p$ we obtain
$x_{1}=a_{1}, \ldots, x_{p}=a_{p}$
and

$$
x_{n}=\alpha_{1 n-p} x_{n-1}+\ldots+n_{p n-p}^{\prime} x_{n-p} \text { for } n=p+1, p+2, \ldots
$$

Setting $x_{n}=f\left(t_{n-1}\right)$ for $n=1,2, \ldots, t_{\mathcal{V}}=Y_{\nu}\left(t_{0}\right)$ for $\nu=0,1,2, \ldots$, we get

$$
f\left(t_{n-1}\right)-P_{1}\left(t_{n-p-1}\right) f\left(t_{n-2}\right)-\ldots-p_{p}\left(t_{n-p-1}\right) f\left(t_{n-p-1}\right)=0
$$

or

$$
f\left[\varphi_{p+\nu}(x)\right]-P_{1}\left[\bigcup_{i}(x)\right] f\left[\bigcup_{p+\nu-1}(x)\right]-\ldots-P_{p}\left[\varphi_{\nu}(x)\right] f\left[\varphi_{\nu}(x)\right]=0
$$

that means the function $f$ is a solution of (1) on the set of the points $\left\{t_{\nu}\right\}_{\nu=0}^{\infty}$ given by the initial condition ( $a_{1}, \ldots, a_{p}$ ).
2. The method of variation of parameters. We know [2] that general linear sequences given by all ordered p-tuples of real numbers ( $a_{1}, \ldots, a_{p}$ ) and by the formula ( $p$ ) form a linear space $M$ of the dimension $p$ over the field of real numbers. The group operation is the addition of sequences and the external product is the product of a real number and a sequence.

Let $\left(u_{1}, \ldots, u_{p}\right)$ be a basis of the space $M$, that is $u_{k}=$ $=\left\{u_{k n}\right\}_{n=1}^{\infty}, k=1, \ldots p$, are linearly independent sequences. Each element of the space $M$ can be written in the form

$$
\begin{equation*}
c_{1} u_{1}+\ldots+c_{p} u_{p} \tag{2}
\end{equation*}
$$

where $c_{k} \in R, k=1, \ldots, p$, i.e. $\tau_{k}=\left\{c_{k}\right\}_{n=1}^{\infty}$ is a stationary sequence.

Let $Q=Q(x)$ be a function given on the set of the points $\left\{t_{\nu}\right\}_{\nu=0}^{\infty}$. We denote $Q_{n}=Q\left(t_{n-1}\right)$ for $n=1,2, \ldots$.

Now we seek such a sequence of the ordered p-tuples of real numbers $\left\{\left(\hat{c}_{1 n}, \ldots, \hat{c}_{p n}\right)\right\}_{n=1}^{\infty}$ to be hold

$$
\begin{equation*}
v_{p+n}=\alpha_{1 n} v_{p+n-1}+\ldots+\alpha_{p n} v_{n}+Q_{n}, n=1,2, \ldots, \tag{3}
\end{equation*}
$$

for a sequence $\left\{v_{n}\right\}_{n=1}^{\infty}$, where

$$
\begin{equation*}
v_{n}=\hat{c}_{1 n} u_{1 n}+\ldots+\hat{c}_{p n} u_{p n}, \quad n=1,2, \ldots . \tag{4}
\end{equation*}
$$

Inserting (4) into (3) we obtain

$$
\sum_{k=1}^{p} \hat{c}_{k p+n} u_{k p+n}=\alpha \sum_{1 n}^{p} \hat{k}_{k=1}^{p} \hat{c}_{k p+n-1} u_{k p+n-1}+\ldots+\lambda_{p \pi} \sum_{k=1}^{p} \hat{c}_{k n} u_{k n}+Q_{n}
$$

For $n=1$ we get

$$
\sum_{k=1}^{p} \hat{c}_{k p+1} u_{k p+1}=\alpha_{11} \sum_{k=1}^{p} \hat{c}_{k p} u_{k p}+\ldots+\alpha_{p l} \sum_{k=1}^{p} \hat{c}_{k l} u_{k l}+Q_{1} .
$$

We take this equality as the first equality of a system determining the sequence $\hat{c}_{k}, k=1, \ldots, p$. The following equalities present other $p-1$ conditions for determining the sequences $\hat{c}_{k}$ :

$$
\begin{aligned}
& \sum_{k=1}^{p} \hat{c}_{k 2} u_{k 2}=\sum_{k=1}^{p} \hat{c}_{k 1} u_{k 2} \\
& \sum_{k=1}^{p} \hat{c}_{k 3} u_{k 3}=\sum_{k=1}^{p} \hat{c}_{k 1} u_{k 3}
\end{aligned}
$$

$\qquad$

$$
\sum_{k=1}^{p} \hat{c}_{k p} u_{k p}=\sum_{k=1}^{p} \hat{c}_{k 1} u_{k p}
$$

or

$$
\begin{aligned}
& \sum_{k=1}^{p} \hat{c}_{k}\left[\varphi_{1}\left(t_{0}\right)\right] u_{k}\left[\varphi_{1}\left(t_{0}\right)\right]=\sum_{k=1}^{p} \hat{c}_{k}\left[\varphi_{0}\left(t_{0}\right)\right] u_{k}\left[\varphi_{1}\left(t_{0}\right)\right] \\
& \sum_{k=1}^{p} \hat{c}_{k}\left[\varphi_{2}\left(t_{0}\right)\right] u_{k}\left[\varphi_{2}\left(t_{0}\right)\right]=\sum_{k=1}^{p} \hat{c}_{k}\left[\varphi_{0}\left(t_{0}\right)\right] u_{k}\left[\varphi_{2}\left(t_{0}\right)\right]
\end{aligned}
$$

$$
\sum_{k=1}^{p} \hat{c}_{k}\left[u_{p-1}\left(t_{0}\right)\right] u_{k}\left[\varphi_{p-1}\left(t_{0}\right)\right]=\sum_{k=1}^{p} \hat{c}_{k}\left[\varphi_{0}\left(t_{0}\right)\right] u_{k}\left[u_{p-1}\left(t_{0}\right)\right],
$$

where $\hat{c}_{k}\left[\varphi_{n-1}\left(t_{0}\right)\right]=\hat{c}_{k n}$ for a function $\hat{c}_{k}=\hat{c}_{k}(x)$.

$$
\text { Replacing } \varphi_{1}\left(t_{0}\right) \text { for } t_{0} \text { in the last equality and setting }
$$

$$
\Delta \hat{c}_{k 1}=\hat{c}_{k 2}-\hat{c}_{k 1} \text { we obtain }
$$

$$
\sum_{k=1}^{p} \hat{c}_{k p+1} u_{k p+1}=\sum_{k=1}^{p} \hat{c}_{k 2 u_{k p+1}}=\sum_{k=1}^{p} \Delta \hat{c}_{k 1} u_{k p+1}+\sum_{k=1}^{p} \hat{c}_{k 1} u_{k p+1} .
$$

The first equality of the foregoing system can be simplydied. We express its left side by means of the other pol equalities and get

$$
\begin{aligned}
\sum_{k=1}^{p} \Delta \hat{c}_{k 1} u_{k p+1} & +\sum_{k=1}^{p} \hat{c}_{k 1} u_{k p+1}=\alpha_{11} \sum_{k=1}^{p} \hat{c}_{k 1} u_{k p}+\ldots+ \\
& +\alpha_{11} \sum_{k=1}^{p} \hat{c}_{k 1} u_{k l}+Q_{1}
\end{aligned}
$$

whence it follows

$$
\sum_{k=1}^{p} \Delta \hat{c}_{k 1} u_{k p+1}=Q_{1},
$$

since

$$
\begin{array}{r}
\sum_{k=1}^{p} \hat{c}_{k 1}\left[u_{k p+1}-\alpha_{11} u_{k p}-\ldots-\alpha_{\cdot p 1} u_{k l}\right]= \\
-215-
\end{array}
$$

$$
\begin{aligned}
& \sum_{k=1}^{p} \hat{c}_{k}\left[\varphi_{0}\left(t_{0}\right)\right]\left[u_{k}\left[\varphi_{p}^{\prime}\left(t_{0}\right)\right]-d_{1}\left[\varphi_{0}\left(t_{0}\right)\right] u_{k}\left[\varphi_{p-1}\left(t_{0}\right)\right]-\ldots-\right. \\
& -d_{p}\left[\varphi_{0}^{\prime}\left(t_{0}\right)\right] u_{k}\left[\psi_{0}\left(t_{0}\right)\right]=0
\end{aligned}
$$

with respect to the fact that $u_{k}, k=1, \ldots, p$, are solutions of the homogeneous equation of the equation (1) on the set of the points $\left\{t_{\nu}\right\}_{\nu=0}^{\infty}$.

To this equality which will be the last equality of our new system we give other p-l equalities obtaining by the following way: We take the arranged second equality and then equalities which are given by substracting every two equalities when we replaced $\varphi_{1}\left(t_{0}\right)$ for $t_{0}$ in the first one. Thus we obtain a new system of equalities that is equivalent to the foregoing system in the form:

$$
\begin{aligned}
& \Delta \hat{c}_{11} u_{12}+\Delta \hat{c}_{21} u_{22}+\ldots+\Delta \hat{c}_{p 1} u_{p 2}=0, \\
& \ldots \ldots \\
& \Delta \hat{c}_{11} u_{1 p}+\Delta \hat{c}_{21} u_{2 p}+\ldots+\Delta \hat{c}_{p 1} u_{p p}=0, \\
& \Delta \hat{c}_{11} u_{1 p+1}+\Delta \hat{c}_{21} u_{2 p+1}+\ldots+\Delta \hat{c}_{p 1} u_{p p+1}=Q_{1} .
\end{aligned}
$$

If we denote $D=\left\|u_{r, s}\right\|, r, s=1, \ldots, p$ then $D\left[\varphi_{1}\left(t_{0}\right)\right]=$ $=\left\|u_{r, s+1}\right\|, r, s=1, \ldots, p$ and we know [2] that

If we set for $t_{0}$ one after the other the values $U_{1}\left(t_{0}\right), \ldots$, ( $n-2\left(t_{0}\right)$ we get

$$
\begin{aligned}
& \hat{c}_{k 3}-\hat{c}_{k 2}=\Delta \hat{c}_{k 2}=(-1)^{p+k} \frac{D_{k}\left[\varphi_{2}\left(t_{0}\right)\right]}{D\left[c_{2}\left(t_{0}\right)\right]} Q_{2} \\
& \ldots \ldots \ldots \ldots \ldots \ldots \\
& \hat{c}_{k n}-\hat{c}_{k n-1}=\Delta \hat{c}_{k n-1}=(-1)^{p+k} \frac{D_{k}\left[\varphi_{n-1}\left(t_{0}\right)\right]}{D\left[\varphi_{n-1}\left(t_{0}\right)\right]} Q_{n-1}
\end{aligned}
$$

After adding we obtain

$$
\begin{equation*}
\hat{c}_{k n}=\hat{c}_{k 1}+\sum_{s=1}^{n-1}(-1)^{p+k} \frac{D_{k}\left[\varphi_{s}\left(t_{0}\right)\right]}{D\left[\varphi_{s}\left(t_{0}\right)\right]} Q_{s}, \quad k=1, \ldots, p . \tag{5}
\end{equation*}
$$

Thus we find the terms of the sequence $\left\{v_{n}\right\}_{n=1}^{\infty}$ with respect to (4) in the form

$$
v_{n}=\sum_{k=1}^{p} \hat{c}_{k n} u_{k n}, \quad n=1,2,3, \ldots,
$$

where $\hat{c}_{k n}$ are given by the formulae (5). Thus we have

$$
\begin{aligned}
v_{n} & =\sum_{k=1}^{p} \hat{c}_{k n} u_{k n}= \\
& =\sum_{k=1}^{p}\left[\hat{c}_{k 1} u_{k n}+\sum_{s=1}^{n-1}(-1)^{p+k} \frac{D_{k}\left[\varphi_{s}\left(t_{0}\right)\right]}{D\left[\varphi_{s}\left(t_{0}\right)\right]} Q_{s}\right] u_{k n}
\end{aligned}
$$

or

$$
\begin{align*}
& \left|\begin{array}{llll}
u_{1 s+1} & \ldots & \ldots & u_{p s+1} \\
\ldots & \ldots & \ldots & \cdots
\end{array}\right| \\
& v_{n}=\sum_{k=1}^{p} \hat{c}_{k 1} u_{k n}+\sum_{s=1}^{n-1} \quad \frac{u_{1 n} \cdots \cdots \cdots u_{p n}}{u_{s}} \tag{6}
\end{align*}
$$

From the above investigations yields the theorem:

Theorem 2. The sequence $\left\{v_{n}\right\}_{n=1}^{\infty}$, where the term $v_{n}$ is given by the formula (6), is a solution of a nonhomogeneous equation in the form

$$
\mathrm{f}\left[\varphi_{p}(x)\right]-P_{1}(x) \mathrm{f}\left[\varphi_{p-1}(x)\right]-\ldots-P_{p}(x) \mathrm{f}\left[\varphi_{0}(x)\right]=\mathrm{Q}\left[\varphi_{0}(x)\right]
$$

$P_{p}(x) \neq 0$ on the set of the points $\left\{t_{\nu}\right\}_{\boldsymbol{y}=0}^{\infty}$, where $t_{\nu}=\varphi_{\nu}\left(t_{0}\right)$.

## REFERENCES

[1] Ge l f o n d, A.O.: Diferenzenrechnung, VEB VdW Berlin, 1958.
[2] L a i t o ch, M.: Lineární posloupnosti, Acta Universitatis Palackianae Olomoucensis, FRN 2 (1968), 5l-67.

```
Department of Math.Analysis
                    Palacký University
                    Vídeňská 15, 77146 Olomouc
                    Czechoslovakia
```

Acta UPO, Fac.rer.nat. 100, Mathematica XXX (1991), 211-218.

